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1-which statement is correct?

-t

- Past tense in English has the same value as past tense in Persian.
2. English and Persian sounds are in any sense the same.
3. English and Persian utilize tenses differently.

4. words, phrases and sentences always have the same meaning in different contexts.

2-The establishment of a background of sameness is the crucial thing in looking for differences. This
sameness of background is termed as.................... .
1. common base 2. equivalence
3. tertium comparationis 4. all of the above

3-Considering the following expressions which statement is true?

P: / mitunim daer-ra baz konim?/
E: can't we open the door?

1. They are syntactically the same 2. They are structurally the same

3. They have the same word orders 4. They are functionally the same

4-Which one is considered to be the theoretical use of contrastive analysis.
1. we can develop a better understanding of the structure of our mind.
2. we can account for some of the deviant structures produced by 12 learners.
3. we can use the result of CA in language teaching.

4. we can collect necessary information for translating different texts .

5-Concerning applied CA and theoretical CA, which statement is correct?
1. The main purpose of applied CA is to provide explanationa for universals.
2. Theoretical studies often concentrate on similarities.
3. Applied CA is the result of a proper selection or adjustment of the theoretical analysis.

4. Applied studies can't be performed with a specific purpse in mind.

6-Which one represents the correct order of steps in contrasting two language systems?
1. juxtaposition, description, comparison,prediction.
2. description, juxtaposition, comparison, prediction.
3. prediction, description, juxtaposition, comparison.

4. comparison, description, prediction, juxtaposition
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7-0ne of the fundamental requirements for the description of the two languages to be contrasted is
that ....ccovvrrvviiiinnnees .

1.
2.

The description of the relevant items of the languages is meant to be exhustive.

The description of the relevant items of the languages should determine what is to be compared
with what.

The description of the relevant items of the languages should be concerned with the ways
languages function.

- The description of the relevant items of the languages should be made within the same theoretical

framework.

8-A study of how context influences the way sentences convey information is called................... .

1.
3.

pragmatics 2. discourse analysis

transfer 4. comparison

9-What is the syntactic function of the word "Mina" in this sentence? "He wrote a letter to Mina."

1.
3.

dative 2. penefactive

eliciting 4. prepositional object

10-Concerning the sentense:" Mehdi is intelligent", which statement is correct?

1.
2.
3.
4.

The verb " is" is the sentence predicator.
The adjective " intelligent" is the argument.
The verb "is" is only a tense-carrier

The verb " is" is part of the sentence predicator

11-Which one is considered to be a basic sentence?

1.
3.

He can write a letter. 2. Mehdi hates smoking.

It is windy. 4. Mina saw the boy there.

12-Considering basic sentence types in Persian and English, which statement is correct .

1.

2.
3.

051V drio e  FAY AT Sy Yl

There is no zero-place pridicator in Persian.
Persian has more basic sentence type considering the number of arguments.

There is no three-place pridicator in Persian.

- English and Persian have the same number of basic sentence types regarding the number of

arguments.
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13-Which one of the following pairs of sentences has analogous sentential meanings?

1. 3. mehdi hit the ball.
b. john worked hard.

2. a. | wrote a letter to Parvin.
b. They sent a gift to Mina.

3. a. It is windy.
b. She is funny.

4. a. They painted the wall.
b. We consider him dead.
14-Which statement is true concerning this sentence?
E: It's me.
1. The element "it" isn't semantically empty.
2. The element "it" is the argument.
3. The verb "to be" adds some semantic meaning.

4. The element "it" syntactically functions as a filler.

15-Which sentence is diferent from the other three?

1. 1t is easy. 2. |tis late. 3. It is snowing. 4. 1t is April.

16-1In the sentence: "Yesterday | met the man." which process can be seen?
1. collocation 2. topicalization

3. overgeneralization 4. cliticization

17-In which sentence the predicator expresses the supposition as to the quality or state of the refrent

of NP?
1. The wall is white. 2. | am Iranian.
3. Aboy is in the garden. 4. Ali seems intelligent.

18-Which sentence is grammatically INCORRECT?
1. The parliment has passed on the resolution.
2. He resembles his father.
3. This book costs ten dollars.

4. The lock is fit by this key.

19-Tomorrow we will take ........ccceueeeeeee... a new subject.

1. up 2. over 3. out 4. on
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20-We are depending ......ccceeeuueennee. you to help us.

1. for 2. in 3. on 4. about

21-Which statement is true considering the sentence below?
E: He gave me the book.

1. The word "me" is the eliciting 2. The word " book" is the benefactive

3. The word "me" is the addressee 4. The word " book" is dative.

22-Which word contains a syllabic /I/ sound?

1. mortal 2. file 3. mile 4. canal

23-The emission of a puff of air as the English voiceless stops are released is known as ................... .

1. neutralization 2. devoicing 3. velarization 4. aspiration

24-Diphthongization is a process by which the tongue moves from ...................... .
1. one position to the places of articulation of /r/ and /I/.
2. one position in the mouth to another position.
3. one position to the place of articulation of /h/.

4. the center of the mouth to another position.

25-Which statement is INCORRECT concerning stress.
1. stress is defined as the degree of force with which a word is uttered.
2. syllabic prominence is achieved only by means of stress.
3. stres gives a certain basic prominence to a syllable.

4. stress is often associated with loudness.

26-Which one is correct considering the place of sentence accent?

1. man zamin khordam', 2. |chetowr ka'r mi-konid?/

3. mehdi koj'a qaeza mi-xorad?/ 4. |chera ne'-mi-xandi?/
27-Which one is an example of a content word?

1. shall 2. him 3. the 4. who

28-0ne of the choices bears rhetorical accent. Which one is it?
1. /Reza ketab- ra x'and./ 2. /bist-o-s'e/
3. /mehdi kot'ak xord./ 4. /m'aen xoshhal shodaem./
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29-Considering English and Persian lexical systems, which statement is true?

1. The word hot-dog is a non-transparent compound in English.

2. Concept are always lexicalized similarly in different languages.

3. The erroroneous word "beautifulness" for beauty could be produced under the effect of

interference.

4. Bilingual dictionaries are mostly concerned with differences between languages.

30-Which sentence is grammatically correct?
1. These two pools have the same depth.
2. These two aeroplanes are the same altitude.
3. This mountain is at the same heigth as that one.

4. The snow is 50 centimeters.
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